#11 Classwork
Ellipse




Name___________________________
Sketch a graph, find the indicated parts and Write the equation in standard form for each ellipse.  center 
[image: image1.wmf](0,0)

.

	4.  Vertex 
[image: image2.wmf](9,0)

-

, co-vertex 
[image: image3.wmf](0,7)


Foci: 
[image: image4.wmf](_____,_____)

&       

         
[image: image5.wmf](_____,_____)


Equation: _________________
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	5. Vertex 
[image: image7.wmf](0,25)

, focus 
[image: image8.wmf](0,20)

-


Co-vertices: 
[image: image9.wmf](_____,_____)

&       

         
[image: image10.wmf](_____,_____)


Equation: _________________
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	6. co-vertex 
[image: image12.wmf](10,0)

, focus 
[image: image13.wmf](0,24)


vertices: 
[image: image14.wmf](_____,_____)

&       

         
[image: image15.wmf](_____,_____)


Equation: _________________
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	7. Vertex 
[image: image17.wmf](7,0)

-

, focus 
[image: image18.wmf](13,0)


Co-vertices: 
[image: image19.wmf](_____,_____)

&       

         
[image: image20.wmf](_____,_____)


Equation: _________________
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Find the indicated parts and Graph each ellipse.  

	A. 
[image: image22.wmf]22
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Center: 
[image: image23.wmf](_____,_____)

&      vertices: 
[image: image24.wmf](_____,_____)

&       

         
[image: image25.wmf](_____,_____)


Co-vertices: 
[image: image26.wmf](_____,_____)

&       

         
[image: image27.wmf](_____,_____)



	Foci: 
[image: image28.wmf](_____,_____)

&       

         
[image: image29.wmf](_____,_____)


Domain: _______________

Range: _________________
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	B. 
[image: image31.wmf](
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Center: 
[image: image32.wmf](_____,_____)

&      vertices: 
[image: image33.wmf](_____,_____)

&       

         
[image: image34.wmf](_____,_____)


Co-vertices: 
[image: image35.wmf](_____,_____)

&       

         
[image: image36.wmf](_____,_____)



	Foci: 
[image: image37.wmf](_____,_____)

&       

         
[image: image38.wmf](_____,_____)


Domain: _______________

Range: _________________
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	11. 
[image: image40.wmf](
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Center: 
[image: image41.wmf](_____,_____)

&      vertices: 
[image: image42.wmf](_____,_____)

&       

         
[image: image43.wmf](_____,_____)


Co-vertices: 
[image: image44.wmf](_____,_____)

&       

         
[image: image45.wmf](_____,_____)



	Foci: 
[image: image46.wmf](_____,_____)

&       

         
[image: image47.wmf](_____,_____)


Domain: _______________

Range: _________________
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	12. Engineers are building semi-elliptical bridges across two rivers. The larger river is 4 times as wide as the smaller river and must accommodate boats that are 3 times as tall. The equation for the bridge over the smaller river is 
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, measured in feet.
	A. Write the dimensions of the larger bridge.

B. Write an equation for the design of the larger bridge.

 
	Sketch the 2 graphs.
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